
790 DUKE, orange 2023 <2023><US><F9675WM>
ACCESSORY PACK

62277





Pos Part Number Description Additional Text Quantity

0 69008121160 Special screw M5x12 2.00

0 C90712040000 Rear view mirror, left 1.00

0 C90712041000 Rear view mirror, right 1.00

0 C90712008000 Grip handle passenger 1.00

0 C90708023010 Splash protection 1.00

0 54603048600 RANGE CHANGE METAL NUT M5 INOX 2.00

0 54603048100 clip nut M6 2.00

0 C0000190501200S INT. TORX FLAT HEAD M5X12 T25 4.00

0 C0000240601500S HH collar screw M6x15 TX30 2.00

0 C0000250501600S HH Collar Screw M5x16 ISA30 SS 4.00

0 C90708015030 METAMOLL F. TAIL LIGHT COVER 2.00

0 C90708061050 Rubber washer 6.5x14x2.3 6.00

0 C90712081000C1 Retaining bracket side reflect 1.00

0 C90712082000 Rear reflector red 3.00

0 0021060003 Washer DIN9021-A 6.4 ONLY USA 2.00

0 0035080506S AH collar screw M8x50 ISA45 4.00

0 0081250181 SCREW FOR PLASTIC 50X18 T20 2.00

1 C3214405EN Owner´s manual 790 Duke, o/g U 1.00

2 C63729099000 Tool set 1.00


